	
	The following table shows the approximate income distribution for Brazil in 1989 and for Russia and Hungary in 1993. In particular, it shows the income shares of each quintile of the income distribution. 

Income Distribution by Population Quintile
(Percentage of total income)
Brazil 1989
Russia 1993
Hungary 1993
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	1.1.  
	Which country had the most TOTAL income? 
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A.  
Brazil
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B.  
We cannot tell from this table.
 
  
[image: image18.wmf]  
C.  
Russia
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D.  
Hungary
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1.2. Plot the Lorenz curve for the three countries in the following graph. Plot Brazil's Lorenz curve using the reen
points (triangle symbol), Russia's Larenz curve using the blue points (circle symbol), and Hungary's Lorenz
curve using the red points (cross symbol). Line segments will automatically connect the points.

Tool tip: For information on using the araph tool, dick the Help button
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	The following table shows the approximate income distribution for Brazil in 1989 and for Russia and Hungary in 1993. In particular, it shows the income shares of each quintile of the income distribution. 
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	1.3.  
	Which economy has the greatest income inequality? (Hint: You may want to refer back to your previous answers.) 
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A.  
Hungary
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B.  
Russia
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C.  
Brazil
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D.  
We cannot tell from this table.
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    2.   Suppose France has a Gini coefficient of 0.4, and Germany has a Gini coefficient of 0.3. Which of the following conclusions are we able to make with this information?           
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	A.  
	The lowest quintile of France's income distribution earns a lower percentage of the aggregate French income than the lowest quintile of Germany's income distribution does of the aggregate German income.
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	B.  
	The lowest quintile of France's income distribution is poorer in absolute terms than the lowest quintile of Germany's income distribution.
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	C.  
	The ratio of the total income of the lowest quintile of the income distribution to the total income of the highest quintile of the income distribution is higher in France than in Germany.
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	D.  
	We cannot tell any of these things from the Gini coefficients of the two countries.
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3. Consider a firm that is the only buyer of labor (that is, a monapsonist) in a town. Its labor supply
curve, MFC curve, and MRP curve are shown in the following graph

WAGE RATE (Dollars per hour]
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According to proponents of the marginal productivity normative standard of income distribution:

on

Workers are being paid too much in this labor market, and government intervention is warranted.

oB.

Workers are being paid the appropriate amount in this labor market.

oc.

Workers are being paid too lttle in this labor market, and the best way to rectify this is to train them to

be more productive:

(©D. Workers are being paid too lttle in this labor market, and the income distribution could be improved
through unionization.

Dore





A total of 5,000 people live in Acaville. There are 1,000 high school students, 1,000 undergraduate students, 1,000 graduate students, 1,000 economics professors, and 1,000 retired economists. Suppose that the total annual income in the economy is $100 million: each high school student makes $2,500 annually; each undergraduate makes $15,000 annually; each graduate student makes $25,000 annually; each professor makes $50,000 annually; and each retiree makes $7,500 annually. 

The chart below shows the income distribution for the town of Acaville.
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4.1. Suppose that the government sets the poverty line at an annual income of $12,000, What is the poverty
rate in Acavile?
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  4.2.   Which of the following correctly orders the people of Acaville from the bottom fifth to the top fifth of income distribution?           
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	A.  
	High school students, retirees, undergraduates, graduate students, professors
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	B.  
	Graduate students, professors, high school students, undergraduates, retirees
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	C.  
	Retiree, graduate students, undergraduates, high school students, professors
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	D.  
	High school students, undergraduates, graduate students, professors, retirees


4.3.   Does the income distribution in Acaville show inequality?           
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	A.  
	No.
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	B.  
	Yes.
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	C.  
	There is not enough information to make a conclusion.


	
	The table below summarizes the income distribution for the town of Perkopia, which has a population of 10,000. Assume that every individual within each fifth of the income distribution earns the same amount of income, and suppose that the total annual income in the economy is $500 million, which excludes any government transfer payments. 
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Share of Total Annual Income in Perkopia
Year
Bottom
Fifth
(Percent)
Second
Fifth
(Percent)
Middle
Fifth
(Percent)
Fourth
Fifth
(Percent)
Top
Fifth
(Percent)
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1987
4.1
10.1
16.6
24.7
44.5
1993
3.8
9.6
15.5
24.9
46.2
1998
3.7
8.8
15.8
24.9
46.8
2003
3.5
7.2
15.1
25.2
49.0
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	5.1.  
	The data above suggests that there is ______ income inequality from 1987 to 2003. 
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A.  
No evidence of
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	The table below summarizes the income distribution for the town of Perkopia, which has a population of 10,000. Assume that every individual within each fifth of the income distribution earns the same amount of income, and suppose that the total annual income in the economy is $500 million, which excludes any government transfer payments. 
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1987
4.1
10.1
16.6
24.7
44.5
1993
3.8
9.6
15.5
24.9
46.2
1998
3.7
8.8
15.8
24.9
46.8
2003
3.5
7.2
15.1
25.2
49.0
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	5.2.  
	Suppose that in 1987, the poverty line is set at an annual income of $26,000 for an individual. What is the poverty rate in Perkopia in 1987? 
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A.  
40%
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20%



	
	The table below summarizes the income distribution for the town of Perkopia, which has a population of 10,000. Assume that every individual within each fifth of the income distribution earns the same amount of income, and suppose that the total annual income in the economy is $500 million, which excludes any government transfer payments. 
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1993
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9.6
15.5
24.9
46.2
1998
3.7
8.8
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7.2
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	5.3.  
	Again, suppose that in 1987, the poverty line is set at an annual income of $26,000 for an individual. Suppose that the government imposed the following welfare program: 

Any individual with an income of less than $26,000 per year would receive a lump-sum transfer payment of $2,000 from the government. 

Assume that in the short run, there is no change in labor-supply behavior amongst the people in Perkopia. What is the poverty rate in Perkopia in the year 1987? 
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80%
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50%
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